Practice Test One: Diagnostic Test
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28.

29,

30.

Marie Curie won two Nobel Prizes for

A
their discoveries of radioactivity and
B &
radioactive elements.

D

The developing of the submarine was
A
hindered by the lack of a_power source
B =
that could propel an underwater vessel.
D

Although humans have highly developed

A
brains, most animals have more acute
B C
senses than them.
D
The movement of the stars was first
A

noticed by eatly travelers, who used the

B C
stars to guide jts way across the sea.

D
Thaose who have scen whar is believed to be

A B [
Noah's Ark say it is the largest than a mod-
D

ern battleship.

gl

33,

34.

It is implicit in the Constitution of the
A
United States that everyone has a right to
B C
their privacy.

D

. Although scientists have been successful

A
about finding treatments for cancer, they
B

haven't yet discovered a cure.,

L D

In the 18th cenrury, standard college

curricula included a heavy emphasis on

A
classical, mathemarics, and religion.
& (1

As the numbered of nonnative speakers

A B

rises, the demand for teachers of English
C

as a second language increases.

. There is much bird migration above the

A
equator, where the Pole Star can be seen,
B
than below the equartor, where 1t cannot be
' D

S€En.




